Genetics Problems (3)
Incomplete, Codominance and Multiple Alleles
Show all your work and Punnett squares were appropriate.

1. If the litter resulting from the mating of two short-tailed cats contains three kittens without tails, two with long tails, and six with short tails, what would be the simplest way of explaining the inheritance of tail length in these cats?  Show genotypes of parents and offspring.
2. State the genotype ratio of a cross between blood type A and blood type AB.  Show ALL possibilities.

3. What kind of blood groups can be expected from the following crosses?

a)  IA i x IB i
b)  IAIB x i i
c)  IB i x IAIB

4. Determine the probability that the first child in each of the following matings will have type B blood.

IA i x  IBIB ________
IB i x IB i  ________
IB i x IAIB  ________

IAIB x IAIB
________
IBIB x IAIA  ________

IB i x IBIB  ________

5. In four o’clock plants, red flowers are incompletely dominant over white flowers; the heterozygous plant being pink flowered. If a red flowered plant is crossed with a white flowered plant, what will be the colour of the F1 generating?
6. In dogs, short hair is dominant over long hair and the alleles for black hair colour and blond hair colour show incomplete dominance, and heterozygous individuals have brown hair colour.  If two dogs heterozygous for both pairs of alleles (hair length and colour) are mated, determine the phenotypic ratio of all possible offspring.
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